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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR ERE

08:20 128 50.0 5 FnHAe08:20 (KRF{ERLEE)
09:10 128 50.0 RS FHR@09:10 (RFIfERLEE)
10:00 128 50.0 i FEA@10:00 (K FAIEREE)
10:50 128 50. 0 R FEA@10:50 (KR AIERSE)
11:40 128 50.0 i FEAe11:40 (KRAERSE)
12:30 128 50.0 i FifA@12:30 (KRPBFERSE)
13:20 128 50.0 5 FiHAe13:20 (KRFEREE)
14:05 128 50. 0 A FEA@14:05 (KRBERSE)
14:50 128 50. 0 i FnHfe14:50 (REERSS)
23t 1152.0 (9%) 450. 0 323 KEC: 1840.0, PH: 5.6

[E{&EC 5233.0 K&, EiLFAKECHE&idEER

HEEKECE (2280.0 vs 5233.0) 15
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P3-13

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

07:10 120 50.0 (Z=| 1Rige07:10 Fzh (REEEE)
08:05 120 50.0 |Z=| {Ri%@08:05 Fz (KBHERSE)
09:00 120 50. 0 FA| {RRi&@09:00 Fz (kAEEEE)
10:15 120 50.0 |&=| 1Ri%e10:15 Fz1 (GRPFERSE)
11:10 120 50.0 (Z=| 1Rige11:10 Fzh (REEESE)
12:05 120 50.0 (Z=| 1®Rige12:05 Fzh (REEZEESE)
13:05 120 50.0 |Z=| 1Ri%e13:05 Fz1 (KBFERSE)
29t| 840.0 (7%) 350.0 32 HKEC: 1840.0, PH: 5.6

MERRHERE STAERSF (78.0 :
ZRIASERRIERE46.0 ml.

large discrepency for begining water status (52:198.0), set to 81.0 ml.
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P3-13

BfiE) | EBIETK (D) | EB=E (EH/EK) | XK EFE

08:20 120 50.0 FE| 1BRi%@08:20 Fzh (FkPB{EREE)
09:20 120 50.0 FH| 1BRi%@09:20 F3h (KAB{EREE)
10:20 120 50.0 FA| 1BRi%@10:20 F3h (KAERESE)
11:20 120 50. 0 PR 1Bi&e11:20 Fzh (RAEEEE)
12:20 120 50.0 FA| 1{BRi&@12:20 F3h (RAEREE)
13:25 120 50. 0 FA| 1Ri%@13:25 F3 (RAERESE)
24t 720.0 (6%) 300.0 3ESHKEC: 1840.0, PH: 5.6

MERRHERE STAERSF (78.0 :
ZRIASERRIERE46.0 ml.

large discrepency for begining water status (67:153.0), set to 84.0 ml.
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P3-13

Bfig) | JEBIATIC (FD) | EBRE (BFH/HR) | XS EFE

07:25 120 50.0 £ {BRige07:25 Fz (RPERKSE)
08:25 120 50.0 |&Z=| {Ri%e08:25 Fz (KPFEREEE)
09:40 120 50.0 |&=| 1Ri%@09:40 Fz (KBFERSE)
11:00 120 50.0 (Z=| 1Rige11:00 Fzh (REEESE)
12:30 120 50.0 (Z=| 1Ri&e12:30 F3zh (REEZESE)
2it| 600.0 (5)%) 250.0 3ESHKEC: 1840.0, PH: 5.6

FEREHEME STEAERRT (78.0 : 47.0), AIREMT—@E XAFH5
ZRIAKBRIERE47. 0 ml.

large discrepency for begining water status (48:123.0), set to 63.0 ml.
FEREBIEC (2505.0) 5i&FEEC (2000.0) REK K, HEE
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